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PHYSICS (SECTION-A)

The displacement of a progressive wave is | 1 T YT TR T faRemu= y = A sin(ot - kx) gRT

represented by y = Asin(mt - kx) where x is distance ) o _
. DH%%WX@%H%tW%‘,a#EH%ﬁHTQ

and t is time. The dimensions of M are same as Frer # Q Fres T £ -

those of :

(1) velocity (2) wave number (1) 9 (2) T FE=

(3) wavelength (4) frequency (3) TR (4) smaf

If energy E, velocity V and time, T are taken as | 2 G Sl E, 97TV T FHA T &I AT ATAD (014 ST

fundamental units, the dimensional formula for dl U8 d-19 &1 fad g3 8em —

surface tensioniis -

(1) EV2T2 (2) E2vT 2 (1) EVT? () E2vT 2

(3) E2V7T (4) E2v2T72 (3) EVT (4) E2vT?

While measuring the acceleration due to gravity | 3. U Rd Aldd I THcdd @RI AU GHY Ueh BT

by a simple pendulum, a student makes a positive ATAD D S B A H 1% ) GTHD Ffe q

error of 1% in the length of the pendulum & a AaABIA H 3% DI FUNHS e FHRaAl ¢ | dde

negative error of 3% in the value of time period. g = 4n%(/T%) ¥ 99 ERT AU T g & A4 # foba=i

His percentage error in the measurement of g by yfererd Ffe i ?

the relation g=4n?(//T%) will be:

(1) 2% (2) 4% (1) 2% (2) 4%

3) 7% (4) 10% 3) 7% (4) 10%

A wire of length 7=6+006cm and radius [4 U® dIR @1 TGS (=6+0.06cm a2l 351

r=0.5+0.005cm and mass m=0.3+0.003g. r=0.5+0.005cm & T &AM m = 0.3+0.003g.

Maximum percentage error in density is : ¢ | g A9+ H 3rfdead ufderd Ffe gt

(1) 4 2) 2 ) 4 )2

(3)1 (4) 6 ()1 4)6

Y% &1 @ o1y 5118/ Space for Rough Work
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If v, +v,Iis perpendicular to v, —vy,, then 5.

M v, is perpendicular to Vs

vi|=|v

()

(3) Vi is a null vector

(4) None of these
A particle moves along a path ABCD as shown in | 6.
the figure. Then the magnitude of net
displacement of the particle from position Ato D
is :

AM—3m—B

(1)10 m 2 5/2m
3)9m 4) 72m

A body A starts from rest with an acceleration a,. | 7.
After 2 seconds, another body B starts from rest
with an acceleration a,. If they travel equal
distances in the 5™ second, after the start of A,
then the ratio a, : a, is equal to :
M5:9 (2)5:7
3)9:5 (4)9:7

CODE : 2511
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A vy v, D THAT vy —y, T, T

) v, -y, D = 8

Vi|=|V2

@

(3) y, IO U Eew e

(4) SR § A DS el

RIATIR T o1 92l ABCD & 3faer ™ € dl
1 o1 ReIfil A | ReIfdl D a® et faemu= &1 ufkHTor
2

Al—3m—»B
(110 m (2) 5 2m
3)9m (4) 7\2m

Teh g A TRVT a, ¥ FARTHATERRN W Y Bl 8 | 2 HhvS

TN Ueh GER] A% B TRV a, I favmTeRen 4 g%
Bl € | e AD YR BIH & 918 I 5 Yhvs H UHaHT

X1 T R &, AU @, : @, WEAR & -

M5:9
3)9:5

(2)5:7
4)9:7

Y% B @ [o77 O/ Space for Rough Work
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8.

10.

The acceleration-time graph of a particle moving
on astraight line is as shown in figure. The velocity
of the particle at time t = 0 is 2m/s. The velocity
after 2 seconds will be

a(m/s’) 1
4

1 2 t(s)

(1 6m/s (2)4m/s

(3)2m/s (4)8m/s

The motion of a particle is described by
X=Xy(1- e_kt); where t >0, x, > 0,k > 0. With what
velocity does the particle start ?

>

(1) -2 (2) Xk

I3
Kk
X

(3) (4) 2xok

A particle starts from point A moves along a
straight line path with an acceleration given by
a = p - gx, where p, q are constants and x is
distance from point A. The particle stops at point
B. The maximum velocity of the particle is :

1E 2i
()q ()\/5
q \Ja
(3)p (4)p

CLASS-XI

10.

CLC

B, tecndl=
Wﬁmﬁﬁaﬁ?‘%wwwwwa’;ﬁ%
HUeRid2 |t =0 WU &I I7T2 m/s & dl 2 THvs

q1S BT BT I BRT—

a(m/s’) t
4

1 2 =t(s)

(1) 6m/s (2)4m/s

(3)2m/s (4)8m/s

T BT DI MR X = x,(1 - €7) g1 a1 2; o7t
t>0,x,> 0,k > 0, A & fare a7 | Yw B -

(1) "?" (2) Xk
k
® 5, (4) 2%k

U Bl fd=g A A IR glax U g &1 1 R
a =p - qx TR | 7 Rl 8, 9TEl p, q Fadis g aon
x g A9 0 2| 3o g B R waval & | BT @l
31fdraH a7 7 -

1E 2 i
0 @75

q Ja
Ok @5

Y% B @ 119 S8 / Space for Rough Work
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M.

12

A body moves along a path PQR from P to R shown
as a dashed line in figure. When the particle is at
Q, its speed is decreasing. The acceleration of the
particle at Q is best represented by the :

M1 (2)2

(3)3 (4) 4

A cannon fires a projectile as shown in figure. The
dashed line shows the trajectory in the absence
of gravity. The points M,N,O and P correspond to
time at t =0, 1s, 2s and 3s, respectively. The lengths
of X, Y, and Z are respectively.

v

(1) 5m, 10m, 15m
(3) 5m, 20m, 45m

(2) 10m, 40m, 90m
(4) 10m, 20m, 30m

.

12

AR P 9 R, PQR Y21 & 37fa3 e g% &1 il
@ fIvgad Y1 & gR1 @R T 2 | S BT Q WR B
D! ATl BT W8I & | B &1 Q W TR HT FHmgon
o g1 3 wu | Ui 2, 98 &

m1 (2)2

3)3 (4) 4

oSt & SRR Ueb 1Y A il ol Haifi foharn Sirn 2 |
frvgad YT e @1 SRy # ge7e U2 o gt
21 8= M,N,0 @I P ® ST t =0, 1s, 25 TIT 35
[HY & WG &, X, Y A1 Z D) dargdf el ?

v

(1) 5m, 10m, 15m
(3) 5m, 20m, 45m

(2) 10m, 40m, 90m
(4) 10m, 20m, 30m

Y% P13 @ [e1y 57718 / Space for Rough Work
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13. A particle is thrown with velocity u making an | 13.
angle 6 with the vertical. It just crosses the top of
two poles each of height h after 1s and 3s
respectively. The maximum height of projectile is
1
P P
f ---------
1
1
1
|
I
(1)9.8m (2)19.6 m
(3) 39.2m (4) 49 m
14. A ball is projected from a point A with some | 14.

velocity at an angle 30° with the horizontal as
shown in Figure. Consider a target at point B. The
ball will hit the target if it is thrown with a velocity
Vv, equal to

(2) 6 ms™
(4) None of these

CLC

B tecnd/=
WWM@GWWU%@HWWW% |
IE h SaTE D &1 @] Bl 3T 15 T 35 IR IR Pl &

al 9 DU gRT UTE Jifhead ST sl —

(2)19.6 m
(4) 49 m
T T P foredl famg, A TR &St 9 30° @ior oR eifia
foran e 2 | S FREgER 2, 3t i dew Rig B R

(1)9.8m
(3)39.2m

CHRIAN &, A1 AP TR 77 v, BT ?

Tt

e |

J?"E 1
(2) 6ms™
(4) None of these

fad
2\
5 1mn

() 5ms™
(3) 7ms™

Y% &1 @ fory ST/ Space for Rough Work
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16.

A heavy particle is projected with a velocity at an
angle with the horizontal into a uniform
gravitational field. The slope of the trajectory of
the particle varies not according to which of the
following curves?

Slope

e X . ¥

(M

Slope

B) ©¢ " (4) All of them

In the figure shown, horizontal force F, is applied
on a block but the block does not slide. Then as
the magnitude of vertical force F, is increased from
zero the block begins to slide; the correct
statement is

F,

—F,

(1) The magnitude of normal reaction on block
increases

(2) Static frictional force acting on the block
increases

(3) Maximum value of static frictional force
decreases

(4) All of these

15.

16.

T HIRI BT Bl FHGY THcdrd &3 H afret 9 ol
HI TR T BRd 2 | SO D U B ygoran = @
TR uRafiid =18l 8l 8 ?

Slope Slepe
)¢ @ o ’

Slope

B © " (4) SURTa |

N

AR Us &S 96 F, 39 YR & i & {6
AT TR 1 R 9 F, o TIRHATYT b1 I 4 AT S|
T dIfs st TR U™ &R 2 | FE HAF BT g9
BHIFTY—

—F,

(1) srfdere ufaforar @1 ok sgm
(2) =it U= w&ifae auvr 9o gL
(3) &P =1 g1 BT 3MfBAT AT TS

(4) SURTERT T

Y& BT @ 11V GT7TE / Space for Rough Work
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17. A block of mass m is in contact with the car as
shown in the figure.

—_— O

ﬂlﬂﬂmm

The coefficient of static friction between the block
and the caris p. The acceleration o of the car that
will prevent the block from falling satisfies :

mg 9
1) oz— 2) o0 £——
() *==7 @<

9

9
i
(3) & i

<=2
(4) @ -

18. The tension T in the string shown in figure is

(1) Zero

(2) 50 N

@ (V3-1)50N

(3) 353N

CLASS-XI

17.

18.

CLC
tecnds

m S| BT U dleh DR @ A1 AR el |
gl

ﬂﬂmmm

A TAT BR & AL WATH TYT O p 8 | R B

TROT o, RIT Bl dTfeh saifeh Airdd =1 IR —
> Mg < 3

£1) S 7 ()« um

@ o2 @ <]

o ¥ g91d T &1 J919 S17d Bifoig—

(2) 50 N

@ (V3-1)50n

(1) =3
3) 35/3N

YB &1 @ o1y T8/ Space for Rough Work
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20.

A block A with mass 100 kg is resting on another
block B of mass 200 kg. As shown in figure a
horizontal rope tied to a wall holds it. The
coefficient of friction between A and B is 0.2 while
coefficient of friction between B and the ground
is 0.3. The minimum required force F to start
moving B will be (g = 10m/s?):

A
B |PF

(1) 900 N (2) 100 N

(3) 1100 N (4) 1200 N

A block of mass m = 2kg is resting on a rough
inclined plane of inclination 30° as shown in figure.
The coefficient of friction between the block and
the plane is i = 0.5. What minimum force F should
be applied perpendicular to the plane on the
block, so that block does not slip on the plane? (g
=10 m/s?)

L ALELTETT 77T

(2) 624N
(4) 434N

(1) Zero
(3) 268N

19.

20.

U s A fSIHT1 a9 100 kg 8, SR «dfd B
fSTRI®T ST 200 kg 8, TR faRTHTERen # I@r T R |
AR Us &S TR0 gR1 i 3l AR A Srel
T 2| A AT B & HEI GO UM 0.2 T B T
RIS & W& Ty 0T 0.3 & | o F Bl g7 A

STTd pifor arfes B 7T RT U X 2
(g =10m/s?)
B F
(1) 900 N (2) 100 N
(3) MOO N (4) 1200 N

Q& m = 2kg G &1 il 30° ARTHIOT aTed TRER
el IR RIETTAR W 1 8, <Al a1 Id & 9el
YT IO = 0.5 2 | e IR S T e o et
I F 1 =gATH AT 91 811 DTS (b iie Pl A

R e arguierd &P
(g=10 m/sz)
F
P 3.-9’0!{ i s
(1) Zero (2) 624N
(3) 268N (4) 434N

Y% B P o7 58/ Space for Rough Work
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21

23,

A body is thrown verticelly upward from the
surface of eatrth with 10 J kinetic energy the
potential energy (Refrence level at point of
projection) at the highest point of journey is:
M9 (2)10)

(3) -10J (4) -8

Work done by a spring force is :

(1) Always negative

(2) Always positive

(3) Always zero

(4) May be positive and negative

Two particles of mass 2m and m are tied with
inextensible string the particle of mass mis given
speed v. Find the speed with which the particle
of mass 2m starts moving ?

2m m
Vv 2v
(1) 5 ) 3
v v
e 3 @ g

CLASS-XI

21

22

23.

waﬂqaﬁiaﬂmﬁawﬁmwaﬂaﬁ?tﬁaﬁ
STl & Foraent Tifast St 10 J & | a1 A1 & S|
fog W Rerfost Soif &rft —

M9l (2)10)
(3)-101J (4) -8
R ga1 g1 fpan a1 B 8 —
(1) THIM FEUMHD

(2) TN FATHD

(3) BRI g

(4) SFTCHS AT FEVITHB BT Fhall 2

2m T m GIHE & G SN DI T AT AT §RT
I ST 8 | 9 m S| &1 BT v ATl | T Bl
2, Tl 2m ST &1 BT b 397 DA Y B 2

2m m
v 2V
(1)5 (2)?
3 4-E
3 = ()6

Y% @14 @ fory ST/ Space for Rough Work

"HHEET™ Pt. Harinath Chaturvedi Marg, Piprali Road, Sikar (Rajasthan) Ph: 01572-255500



25.
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Ablock of mass /2 kg is released from the top of
an inclined smooth surface. If K =100 N/m and
block comes to rest after compressing the spring
by 1m, then the distance travelled by block before

it comes to rest is :

V2 kg

Sm
45°

11111I

M1m (2)1.25m

(3)25m (4)5m

In a vertical spring mass system, a block of mass m
isinitially at rest when there is no extension. Now
if the mass is released suddenly then the maximum
elongation in the spring is :

(1) 2mg/K (2) mg/K

(3) 3 mg/2K (4) mg/2K

CLASS-XI
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24, UH edl, s saaqH o kg © | T TURMRd
e, foraeT Bior 45° €, fhreras e o1 ¢ 3iR
R & 1 m dAHfad R a1 2 | afe Ry &
K =100 N/m a1 1311 1o T[eeb =1 gt fvaril g3
@1 faRTH Srawen d 31 H |

V2 kg

5m

M1m (2)1.25m
(3)25m (4)5m

25. U SHeAlgR RYT S| arell | U Yol ol
S m 8, 3TR™ H =T 3raven # & 3R R # 318
Reerge a1 TWie 78l € | i $¥ 37avell W Yo Bl
Brel oY a1 R & s1fdesaw Raara fasd=m sma |
(1) 2 mg/K (2) mg/K
(3) 3 mg/2K (4) mg/2K

Y% B @ [o77 O/ Space for Rough Work
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26.

27.

28,

29,

CLASS-XI
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CHEMISTRY (SECTION-B)

Line spectrum is characteristic of :

(1) molecules (2) atoms

(3) radicals (4) none

Which of the following electron transitions in
hydrogen atom will require largest amount of
energy?

(1) from n=1to n=2

(2) from n=2to n=3

(3)fromn=wton=1

(4) fromn=3ton=5

If uncertainty in the position of an electronis zero,
the uncertainty in its momentum would be

(1) zero (2) <h/4n

(3) >h/4n (4) Infinite

If the kinetic energy of a particle is doubled, de
Broglie wavelength becomes :

(1) 2 times (2) 4 times
(3) /2 times (4) % times

26.

27.

28,

29.

Y WeH IrferetOns gi—
(1) 3T9LRAT B (2) TRHATILST B
(3) eTpT T 4) BT e

BTSSRI URATY] H BT Sodg A1 FHA0 & ford
3TfArHTH Sroll IR B

(1) from n=1to n=2

(2) fromn=2ton=3

(3)fromn=wton=1

(4) fromn=3ton=5

goraeia @ Rafa # siff=dar = & o |@aw A
SIEIRCRRIRSUIE

M = (2) <h/4n

(3) >h/4n (4) 3=

Qe HOT B TSt Frott QAT DR TR S SI7edl axrae
Bl

(1) 2 7
3) 2 T

(2) 4T

Y% B & 177 OTTE / Space for Rough Work
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30. Select the correct statement(s) among the

following :

(i) Total number of orbitals in a shell with
principle quantum number 'n' is n?

(i) Total number of subshells in the n? energy
level is n

(iii) The maximum number of electrons in a
subshell is given by the expression (4/+ 2)

(iv)m = /+ 2, where /and m are azimuthal and
magnetic quantum numbers.

1) (i), (iii) and (iv) are correct

2) (i), (ii) and (iii) are correct

3) (i), (iii) and (iv) are correct

4) (i), (ii) and (iv) are correct)

— p— — p—

(i) 'n' H&I FaicH A& dTel DI H o Hefhl @
& N’ |
(i) N o1t TR | Gl SUBIY B T n g |

(iii) forY ST § Sorae = @ T | & 79
(4/+ 2) 3 e < &

(ivym = /+ 2,58 /3R m faeh &k gear
FITCH AT ¢ |

() (i), (iii) Ter (iv) T 8

(2) (i), (ii) Tem (i) TE

(3) (i), (iii) T2 (iv) L 2

(@) (i), (i) Torm (iv) T& 8

31.  The wave motion of an electron in a Bohr's orbit | 31. TSI @ 9I8R @&l H, U Feldeid dl axi T ==
of hydrogen is shown as. Its potential energy is: fora & IR ® | gaa Rerfast Sut grft :
(1) - 34 eV (2) +34 eV (1) - 34 eV (2) +34 eV
(3) - 3.02 eV (4) - 151eV (3) - 3.02 eV (4) -151eV

32.  Onemole of an element contains 4.2x10?* electrons. | 32. U dcd & T ATl | 4.2x10% golaeid Sufkerd & o
What is the atomic no. of the element : dcd T URHTO] HHTD I3l -
(1) 2 2 4 M2 2 4
(3)7 4) 8 @)7 @) 8

Y% B @ [o77 O/ Space for Rough Work
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33.  Number of gram atoms of oxygen present in 0.8 | 33.
mole of tartaric acid C,H,O, would be :
(1) 3.6 (2)1.8
(3)2.4 (4) 4.8
34.  The number of moles of a gasin 1m?’ of volume at | 34.
NTPis:
(1) 4.46 (2) 0.446
(3) 1.464 (4) 44.6
35. Forthe estimation of nitrogen, 1.4 g of an organic | 35.
compound was digested by Kjeldahl method and
the evolved ammonia was absorbed in 60 mL of
M
0 sulphuric acid. The unreacted acid required
Mo :
20 mL of 7 sodium hydroxide for complete
neutralization. The approx percentage of nitrogen
in the compound is :
(1) 3% (2) 5%
(3) 6% (4) 10%
36. Which of the following statement is correct - 36.

CODE : 251

(1) Law of constant proportion or composition is
true for all type of compounds.

(2) Vapourdensity of a gas is half of its molecular
mass

(3) Molar volume of a gas at standard conditions
is22.4 ml

(4) Atomic masses of most of the elements are
fractional due to isotropic abundance.

0.8 Al TER® 317 (C,HOp) ﬁ SuRerd sifaRiTeT

& UTH XA &) AT A1l DY —
(136 (2)1.8
(3)24 (4) 4.8

NTP TR 1 m? 3a+ # 99 & ATal &1 Gear el

(1) 4.46 (2) 0.446

(3) 1464 (4) 44.6

AIZEIS & 3MpeA- & [T 1.4 UT. FHrafe AIfis
Siestel fAfdy & AR srafrd faan ar g gad gyu

I &1 60 firell % RIS 37 H JaeNfd
o T | 31fdery vt & gl SERIIaRYT & forg 20

fﬁ?ﬁ% ARSI BSEIFATES D NMILIDH s | AN
H AT BT ST UfOrerae 2 :

(1) 3% 2) 5%

(3) 6% (4) 10%

1 # 9 DI B HE ® -

(1) Rer aigura a1 ReR 134 &1 7 |1 UhR &
ATl & o T 2 |

(2) 9 BT 9T T SHD 7] WX I AL & |

(3) A® yRRfAT U= 19 @1 Ao maa+ 22.4 ml
gl

(4) SIfSraH acal &1 URATY] TATA FHEAT D
g edd] & BRI fA=ITHS BT 2 |

Y &1 @ o1y T8/ Space for Rough Work
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38.

39,

40.

4.

CLC
tecnd=
When 50 mL of 2.00 M HCI, 100mL of 1.00 M HCI
and 100 mL of 0.500 M HCI are mixed together,
the resulting HCl concentration of the solution is
(1) 025 M (2)1.00 M
(3) 3.50 M (4) 625 M
For the reaction, N, — NH,, if molecular mass of
NH, and N, are M, and M, their equivalent masses
areE,and E,. Then (E, - E,) is -

2) M,-M,

(3) 3M, -M, (4) M, -3M,

A sample of H,0, labelled as '11.2 V'. Which of the
following is incorrect for this solution :
(MPS=68% QM=

3)IN=2 (4) None of these

The electronic configuration with the highest
ionisation enthalpy is :

(1) [Ar] 3d" 4s? 4p* (2) [Ne] 3s* 3p

(3) [Ne] 3s* 3p? (4) [Ne] 3s* 3p°

The correct order of second ionisation potential
of C,N,OandFis:
(MC>N>0>F
3)O>F>N>C

QO0>N>F>C
4F>0>N>C

CLASS-XI

37.

38.

39.

4,

CODE : 2511

19 2.00 M HCI & 50 mL 3iR 1.00 M HCl @ 100 mL
derm 0.500 M HCl & 100 mL &T famar ar 8 a1
gRomt fera= ® HCl & arear 8l -

(1025 M (2)1.00 M

(3) 3.50 M (4) 625 M

31T, N, — NH, 5, I NH, 3R N, & 3[R 5T
M, 3R M, 8, I9% qedial IR E, 3R E, 8 | &
(E,-E)2-

2) M, - M,

(3) 3M; -M, (4) M, —3M,

H,0, @ T T WX '11.2 V' 3ifehd 8 | 5 faerami & forg
DIFIT HAT Teld B—

() PS=68% @QM=1

B)N=2 4) 39 | IS 2

ITIdH AT T aTell Sidei~e fa=am 8

(1) [Ar] 3d" 4s? 4p° (2) [Ne] 35 3p'
(3) [Ne] 3s° 3p? (4) [Ne] 3s* 3p°
C, N, O T2 F & fg<fir s fava s w1 v 2

()C>N>0>F
B)O>F>N>C

00>N>F>C
(4 F>0>N>C

Y% 13 @ [y 5171 / Space for Rough Work
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17 November, 2024

43.

CLASS-XI
42,  Match list-I with list-II 42,
List-I List-II
(Pair of elements) (Position in periodic table)
P. Se, Ca 1. Same period
Q. Sn,Ge 2. Samegroup
R Ag,Cr 3. Digonal position
S. Be, Al 4. Same block
Select correct code for your answer
P Q R S
(1) 4 3 2 1
(2 2 1 4 3
(3) 4 2 1 3
(4)1 2 4 3
In which case, the energy is not released : 43,

45,

Mmc—-da QP—>P

(B)N > N~ (4 Co>C

Which inert gas have same configuration in outer
shell and peneultimate shell :

(1) He (2) Ne
(3) Ar (4) Kr
Which one has the highest boiling point :
(1) Kr (2) Xe
(3) He (4) Ne

45,

ﬂ;ﬁlaﬁiﬁllﬁﬂﬁﬁ‘ﬂq

A1 gA-
(aal &1 g™) (emad aeft ¥ Rerfa)
P. Se, Ca 1. |AM 3
Q. Sn, Ge 2 9HE T
R Ag,Cr 3. A&l Refa
S. Be, Al 4. |HM =ildh
SR Pl el A G -

P Q R S
(1) 4 3 2 1
() 2 1 4 3
(3) 4 2 1 3
(4) 1 2 4 3
for Rerfer # Fofl e w181 81l &
(10 Ccl—c 2QP—>P
(3)N—> N~ 4)C—>C

I 31feha 17 & IIEIad Bl dAql ST HIgl H
T e grar B

(1) He (2) Ne
(3) Ar (4) Kr
fohTepT eI v 31fd® 2
(1) Kr (2) Xe
(3) He (4) Ne

Y% B @ 119 S8 / Space for Rough Work
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47.

48.

49,

50.

e cn das CLASS-XI
Number of o and n bond present is C;H, : 46.
(1) 6,2 (2)3,6
(3) 6,6 (4) 4,6
For which of the following molecule u#0: 47.

(M

C
@ e
Cl CN
OH F
In CuSO,.5H,0 total number of H,0 molecule
which form coordinate bond with metal ion:
(1) 2 (2) 4
(3)5 (4)0
Select in which atleast three oxygen atoms are in
same plane:

(1) XeO, (2) XeO,F,

(3) xe0p (4) XeO,

There s largest difference of energy between the
molecular orbital of dioxygen in :

(1) o 2p, n2p, (2) n2p, m*2p,
(3) 6 2p, 0*2s (4) 6*2p, 625

48,

49,

50.

CODE : 2511

| 17 November, 2024
C3H, 5 o T n-7 &) HeT SuRerd 28—
(1) 6,2 (2)3,6
(3)6,6 (4) 4,6
A g frasm & ol u=0¢g |

Cl CN
) @ () @
Cl CN
OH F
3) @ (4) @
OH F

CuS0,.5H,0 # H, 0 37931l BI el A& S €T AT
B A1 SUASHATH g+ 914 ¢

M2 ) 4

@) 5 4) 0

BT T B FOTGH TH | B A1 ATaRITT URATY]
Uh e dA H &8
(1) XeO,

(2) XeO5F,

(3) xeOg (4) XeO,

STSSITRATST & 3NOTD DHeTd! B Fed Sofl bl AaifdD
IR

(1) o 2p, n2p,
(3) o 2p, 6*2s

(2) n2p, m*2p,
(4) 6*2p, 62s

Y% B @ [o77 O/ Space for Rough Work
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Tatert Bxplering ELE Mosicnal Blympiod-2025

BIOLOGY (SECTION-C)

CODE : 251
51. Refer the botanical name of wheat "Triticum
aestivum" and identify the statement which
correctly describes it.

(1) The second word belongs to genus and starts
with a small letter.

(2) Boththe words "Triticum aestivum” denote the
sepcific epithet.

(3) The first word Triticum denotes the genus
which starts with a capital letter.

(4) The first word Triticum denotes the specific
epithet while the second word denotes the
genus.

52.  Match the following column-I and column-II :

Column | Column Il
A. Carnivora i. Man
B. Diptera ii. Housefly
C. Primate iii. Cat
iv. Dog
v. Gibbon
A B C
(1) i, iv i i,V
(2) ii iv i,iii
(3) iv i iii, i
(4) i, iii iv i

51

52,

B B U DN Gl SHBT Fel I HRaT 2 |

(1) TR IS I P12 3R BIC AR A TLH A 2 |

(2) < v fefems tReaw fakre g &t gerid
g

(3) ugen ves fefewma 991 o1 9y a8 S 9 3R
A URH BT |

(4) ugen vss fefesmH faf¥re ug &1 9 ol § Srafd
ORI ¥ I DI 1Y R 2 |

fferRaa -1 qen w11 31 gAferd Hifor—

-1 -1l
A. EIfaRT i. HMa
B. fewew ii. TR AR
C. uisHe iii. facel
iv. g
v. fra=
A B C
() iii, iv i RY
() ii iv i, iii
@3) iv ii i, i
(4) i, iii iv ii

Y% 13 @ [y 5171 / Space for Rough Work
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53.

54.

55.

CLC
tecnd=

Find out the incorrect statement-

(1) Linnaeus used 'Systema naturae'as the title of
his publication

(2) Solanum, Petunia and Datura are include under
three different genus, and in one family

(3) Solanaceae and convolvulaceae are includein
order polymoniales

(4) None of these

Select the correct statements(i-v) regarding

taxonomic categories.

(i) Each step or rank in hierarchy is called
taxonomic category.

(ii) Speciesis agroup of individual organisms with
fundamental similarities capable of breeding
among themselves.

(iif) Taxonomic studies of all unknown organisms
have led to the development of common
categories like kingdom, phylum or division,
class, order, family, genus and species.

(iv) Lower the category, greater is the difficulty
of determining the relationship to other taxa
at the same level.

1) (i) & (ii) only

2) (ii) & (iv) only

3) (i), (i) & (iii) only

4) All of the above

How many of given terms represent to family for

different living organisms.

— p—, p— —

(a) Felidae (b) Canidae

(c) Panthera (d) Diptera

(e) Poaceae (f) Convolvulaceae
(9) Insecta

(13 (2) 4

(35 (4) 2

CLASS-XI

53.

54.

55.

CODE : 2511

TeAd B Pl 1T DIFTI—

(1) fafra =1 e fovaE @ e R AR
IuAT faar e

(2) e, U I T2IT 8RT &1 ATT—3AT A1 g2
20 Yo el H Afvaferd fobar

(3) IR AT Bidrcgerddl B 7 UfefmIed |
|ffera faram =

(4) =79 Q PIS 7

TRl AR @ G99 # Fel AT (i-v) B Faq

N |

(i) USTHH H UAS UG 1 ¥h Bl GHIHR0T A0l BHEl
T2 |

(i) woTfa Hifers FHMAT dTel g Ta Siidl &1 Uh
THE & S MU H USTH &1 H FeH ¢ |

(iii) ¥ 31Tt Sftai & aeftenvor sreae | ArT= Ao
I I, BIgerH AT YAT, g9, 01, e, 997 AR
TSATforat 1 It gan 2 |

(iv) 2ol R =1 21, T TR OR 81T ST |
Tae1 HeiRa oA § dfears Sa-l &1 31fdid grfl |

(1) wae (i) T (i)

(2) Dad (i) T (iv)

(3) ®a (i), (ii) T2 (i)

(4) SURTa

=1 7 9 o= o T o fafe=1 Shial & ford et
B YEIId B B—

(a) Bferst (b) HfrSt

(©) Rt (d) STE=XT

(e) TTg (f) DrATeger
(CERES

M3 (2) 4

()5 (4)2

E 18 ) el Pt. Harinath Chaturvedi Marg, Piprali Road, Sikar (Rajasthan) Ph: 01572-255500
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17 November, 2024

56.

57.

58,

Choose the wrong statements regarding bacterial

cell

(i) Glycocalyx is the outermost envelope in
bacteria,

(i) The glycocalyx could be a loose sheath called
capsule.

(iii) The glycocalyx formed by the plasma
membrane is called mesosome.

(1) (i) and (iii)

(2) (i) and (ii)

(3) (ii) and (iii)

(4) (i) and (iv)

Which of the following statements are incorrect ?

(i) Plant cells have centrioles which are absent in
alsmot all animal cells.

(ii) Ribosomes are the site of protein synthesis.

(iii) The middle lamella is a layer mainly of calcium
carbonate which holds the different
neighbouring cells together.

(iv) In animal cell, steroidal hormones are
synthesized by smooth endoplasmic reticulum.

(v) Lysosomes are formed by the process of
packaging in golgi-apparatus.

(1) (i) and (iii)

(2) (iii) and (iv)

(3) (i) and (iv)

(4) (i) and (iv)

In plants, the tonoplast facilitates the transport

of a number of ions and other materials

(1) Against concentration gradient into vacuole

(2) Along concentration gradient into vacuole

(3) Along concentration gradient into gas vacuoles

(4) Against concentration gradient in lysosome

CLASS-XI

56.

57.

58.

SIaTY] BIfRIhT & Hae H Tl Eﬁ?ﬂiﬁ

(i) TS PIB TR SRR BT TEA FTER 3MTARTT B,

(ii) TATSDIBISTRT Th LA SITARV &1 el & o
DRI DHE I & |

(iii) wTSHT fSredl g1 AT @Rdis faed &
RIS el STl 2 |

) () T (iii)

@) (i) @ (i)

@) (i) T (iii)

(4) (1) T2 (iv)

ffoRad § & & A1 U Tad 2

(i) UeY BIRHN TRGGS IEd & Ol AT GHI
ST BIRIBIRN # STguRerd 8 € |

(ii) JTSERIH W FIATUT BT I £ |

(iii) 7e gt J3=g ®U | HIoTIH BT Bl Th
URd ¢ Sl A= AoTdia! BIfkatei @1 ua |
TS T 2 |

(iv) ST DITIRT H, FERTSS e BT Bl AT eIl
TG STt gIRT favan e € |

(v) AT TMeol—SgaRul § YT &t ufthar &
ERCES

() () T (iii)

@) (i) T (iv)

@) (i) @ (iv)

(4) (i) T2 (iv)

UTET] H ST ST A=A 37 ugrdi & uiRas Pl

ﬁ‘ﬁﬂmﬁl%

(1) Rfxhet # A==t vaordn & fqusia

(2) RipepT H AT YOI & AR

(3) Trfra Rithent # Ar=d1 Y9Il & AR

(4) FTIFHA H A=l Yo & faueia

"HHEET™ Pt. Harinath Chaturvedi Marg, Piprali Road, Sikar (Rajasthan) Ph: 01572-255500 19 2
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CLASS-XI

CODE : 251

17 November, 2024

59. Centrifugation of a cell results in the rupture of | 59. ®IR®I & B & TRUTHETEY BT f3reei g
the cell membrane and the contents compacting ST B 3R HS® Audwd Afrdl & Fraet ¥rT |
into a pellets in the bottom of the centrifuge tube. 3I9ETT @ WU H STHT 81 911 © | 5 Jd&NT DI T DIl B
Bathing this pellet with a glucose solution yields od # I UR eIl & Ire |wied suruei
metabolic activity including the production of ATP. fafafera T = 2 & | 39 s/aery # fFrfeRea # 4
One of the contents of this pellet is most likely THI: P11 TP HITSH BT ?
which of the following ?
(1) Cytosol (1) wrgerifd
(2) Mitochondria (2) ATsCIdifegan
(3) Lysosomes (3) ATSHRAH
(4) Golgi bodies (4) et
60. Choose the correct option for the chromosome | 60. =i f&¥ T oRIE & g 2T fadhed 1 giQ
given below :
Number of {Number of| Numberof | Numberof |Number of PHCS D | YoM BT | WEIHIR DT | PIEICIOR D | DR
chromatids arms centromere | kinetochore | telomere T T =T T DT
(1) 4 2 2 4 2 M| 4 2 2 4 2
2) 2 2 1 4 4 @ 2 2 1 4 4
3) 2 4 1 3 4 @ 2 4 1 2 4
(4) 2 4 2 4 2 @| 2 4 2 4 2
61.  Which of the following best defines the tissue: | 61.  f=feiRaa #§ & @9 Sds &1 W ®©U A gR¥MNG

(1) Cells with non-specific function + matrix

(2) Cells with specific function + tissue fibres

(3) Cells with specific function + inter cellular
substance

(4) Group of undifferentiated cells + matrix

BT &

(1) fafdre Bt arell PIRTET  + e

(2) faf¥re @t arell HIREHY + Had ag

(3) fafre w1t arel HIRTHY  + ARBIRTOT ugTed

(4) AT BIRTHRI & T + mar

E 20 ) pdereft Pt. Harinath Chaturvedi Marg, Piprali Road, Sikar (Rajasthan) Ph: 01572-255500
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62. In nearly all animal tissue, specialised junctions | 62.

CLASS-XI

AT Y U ﬁ—dﬁ T aﬁf%rcﬁaﬁ a‘s ﬁr&ﬁq NI

63.

provide both structural and functional links
between its individuals cells

I DIRBISN BT AFATHD Yd BIATHD Al
U&= &Y T |

Select an correctly matched option for type of
junction with their function

Sn |Junction Function .. afer &1 B
Type YhN
(i) Faciliate the cells to . (i) DIfRrPBIRAT B U TR B
(A) [ Tight communicate with (A) [ge dan ;
junction each other e FE A S
PRATE |
B) | Gap (i) ?top ?ub];tances (B) | srawreh ey | (i) wereif @ S A G
; : rom leaking across
junction a tissue RE 9§ AT |
(C) | Adhering |(iii) Cementing to keep (C) |erachafy (i) TSR BrimRIT BT v
junction neighbouring cells e
together e ¥ g dreH|

GfY B UpR T2 ST fohan & Geg # wa) fAer= arel
fameq @1 T PN—

(1) A-ii; B-i; C-ii (1) A-ii; B-i; C-iii
(2) A-i; B-ii; C-iii (2) A-i; B-ii; C-iii
(3) A-iii; B-i; C-ii (3) A-iii; B-i; C-ii
(4) A-ii; B-iii; C-i (4) A-ii; B-iii; C-i

Bright yellow, red and green coloured cockroaches

have been reported in tropical regions. Their size

range from % inches to 3 inches. Select correct
statements

() Cockroaches have long antenna, legs and flat
extension of the upper body wall that
conceals head.

(I1) They are nocturnal omnivores that live in damp
places throughout the world.

() They have become residents of human homes
and and thus are serious pest and vectors of
several diseases.

(IV) Periplaneta americana is a common species
of cockroach and adults of this species are 34-
53 mm long with wings that extend beyond
the tip of the abdomen in males.

(1M Only I, land Il (2) Only I and Il

(3) Only lland Il (4) L 1I, I and IV

63.

TPl Yol SITel T2 BN N1 dTel BihRIT Wb
&1 ¥ U 911 & | 3911 JMMPR V4 59 W 3 59 I aIdl
T | el B g -

(1) Bfexra § w1 T, IR 91 $us <8 ARy &
U TR RR B SHhell € |

(1) A 3R Fater) oifd g 8 S fava w= # 949 e
H U 11 & |

(1) A A4 3MaT # W& ol & a1 TR 9I$d U4
B SRt & aEH § |

(IV) G¥ITTeT STHRBTT T ATHII HIhRId I ToTTfal
2 d 39 UoTlfd @ 9a%h 34-53 mm o Uxgl
afed ot TR § ) @ orf~ad RR & 3 d& Bt
BT |

(1) @ad |, 11 qe il

(3) daa Il e il

(2) Baat | g Il
(4) 1, 11, 111 21T IV

"HHEET™ Pt. Harinath Chaturvedi Marg, Piprali Road, Sikar (Rajasthan) Ph: 01572-255500 (2 2



CLC CLASS_XI CODE : 25N
tecnd=
64. A:Cockroach is an uricotelic insect. 64. A: PIBRIF TP IRPICTTD DI T |
R : Its excretory product is uric acid which helps R: SH®1 Ioil UaTed IR e T Sl Tt Aol
in conservation of water. HEIAT SRl B |
(1) Both A and R are true and R is the correct (1) ATATREHI AT & TATR, A BT LT TR IHRI
explanation of A. T

(2) Both A and R are true but R is NOT the correct (2) ATATREIF I & AR, A BT TSI TLTHRT
explanation of A. SR

(3) A'is true and R is false . (3) AGI E AATR AT 2 |

(4) A is false & R is true or false. (4) A 31T § T R I 31T 3T © |

65. Out of the following statements, select the | 65. f&A T BT # ¥, IR HAH BT TAT BT

incorrect one.

(1) Amphibians have positive pressure breathing (1) SHIRI ¥ gATHSD &1 a9 eial ¢ |

(2) Tadpole larva is herbivorous, so intestine is long (2) TSUTA ATGT LMHIERI I T Aa: JF o=l g Ry
and coiled in the form of a spring % AT FHosiord Bl 2 |

(3) Frogs have four digits in the fore limbs which (3) #EH @ U ST H UTE Tl Jad AR Sferl
has webs and five digits in hind limbs, webs Bl © 201 ued ure | ufdg siferdf et 2, foras
are poorly developed qTeiTet 3red faaRia e 2 |

(4) In frog internal ear associated with hearing and (4) Hig® @1 DY F 9 Fger 9 HIAd ¢ |
balancing.

66. Match the name of the animal (column I), with | 66. @feF—| # fAY 7T Sqail @1 dieF—II § &1 TR 3D
one characteristic (column II), and the phylum/class fafreanai iR wiem-111 # fAU TV S9 BIger,/Fermd
(column 111) to which it belongs. Which one is q B4 [Jdhen |gl gAford
correctly matched:

Columnl  Column I Column Il HicH | i I i I
() Limulus Body covered by  Pisces ( forgara INR TR Frgfeh it
chitinous TR Dheplel
exoskeleton

(2) Adamsia  Radially Porifera () verfar 3R RIBRT

symmettrical SEIGI

(3) Petromyzon Ectoparasite Cyclostomata | (3) UgMIgSIA  dT& GRoiId! A FARCIHCT

(4) Ichthyophis Terrestrial Reptilia (4) glRefea <RI Yo

E 22 ) e Pt. Harinath Chaturvedi Marg, Piprali Road, Sikar (Rajasthan) Ph: 01572-255500



CLASS-XI
67. Choosetheincorrect statement about the phylum | 67.
platyhelminthes :
(A) They have dorso ventrally flattened body.
(B) They are mostly endoparasite found in animals
& plants.
(C) Specialised cells called flame cells help in
osmoregulation and excretion.
(D) Bilateral, triploblastic & coelomate animals
with organ systen level of organisation.
MA&C 2A&D
(3)B&C (4)B&D
68. Fill in the blanks with appropriate examples. 68.

CODE : 251

. cells are also called as nematocytes
II. ___B___isseenin Physalia.
lll. Meandrinais alsoknownas___C___.
. ___D___
Here A to D refers to
(1) A-Cnidoblasts,
B-Cellular level of organisation,
C-Seafan,
D-Bilateral symmetry
(2) A-Nematocytes,
B-Tissue level,
C-Sea pan,

is found in Aurelia.

D-Radial symmetry
(3) A-Stinging,
B-Cellular level of organisation,
C-Sea-cucumber,
D-Bilateral symmetry
(4) A-Cnidocytes,
B-tissue-level of organisation,
C-Brain coral,
D-Radial symmetry

@éﬂ%ﬁﬂeﬁmfﬁﬂa’ﬁﬁﬁﬁmﬁzﬁmﬁﬁnﬂﬁaﬁ

g

(A) 3 uTofl U SR w9 H TUS B & |

(B) 3 wiroft g wToft ot dielf # uRoiid @ U # urg
A E |

(C) <aren HIRTHR TRTEARYT 307 T2 S&Twi+ H
eIl BT & |

(D) faured wwfAfa, BroRe don e & o= arl
gl 81 |

MA&C (2) A&D
()B&C (4)B&D
Reret 2RIl 1 SUGerd SaTeRl | gof BT

L ___A___ ®IR®N FRedEed W dedrd
. ___B___wrgdferar § fearsirar
. fAvfg, ___C___dedamas
IV. ___D___3iRforar § aram Sl € |
TETAVDR:
(1) A-FeIr,
B-hIf3rehT R &1 HITeH,
C-|Hgl g,
D-fgured wwfafa
() A-ficraTges,
B-3dd WX,
C-a9a U,
D-3RIT FHAf
(3) A-<Y,
B-hIf3rehT R &1 HITeH,
C-aHgl 9Ivy,
D-fgured wwfafa
4) A-fAeITSCey,
B-3dd WX BT HI6H,
C-s91 B,
D-3RIT FHAf
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70.

CLC
tecnd=
Which of the following statements are true/false?
. Cell aggregate body planis found in phylum -
Platyhelminthes.

[Il. Radial symmetry is the most common
symmetry found in animals.

lll. Pseudocoelom is found in phylum
Aschelminthes.

[V. All triploblastic animals have a true coelom.

V. Haemocoel is sometimes observed in animals
belonging to phylum- Platyhelminthes.

1) 1 and V are true and Il, lll and IV are false

2) II, Illand V are true and | and IV are false

3) I, Il and Ill are true and IV and V are false

4) 1,11, 1V and V are false, only Il is true

Read the following statements.

(@) Metagenesis is observed in Helminths.

(b) Echinoderms are triploblastic and coelomate
animals

(¢) Round worms have organ-system level of body
organization.

(d) Comb plates present in ctenophores help in
locomotion.

(e) Water canal system is characteristic of
Echinoderms.

1) (a),(b) and (c) are correct

2) (a), (d) and (e) are correct

3) (b), (c) and (d) are correct

4) (c), (d) and (e) are correct

— p— — p—

— p—, p— p—
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70.
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= d F BN FUF I N 7

| A9 wifeefoneiial # ifdre aqfd IR a1
U} oI &

. 3R FAMA S=gall H IRl S arell daifed
AT AT 2

Il. HE[ET 9 e fer=2iiol & urf) 1Tl @

IV. T4 PR ST 9o 91 81 vEd ©

V. Y wifesfeneiio | arfd Sgati 3 ei—aul
feHRiTer ufeyd el 2

MITnVIIEd I, Il qATIV A ¢ |

I, NTATYV A T | ANV IF S |

B) LI AIRTIV TV II R |

(@) 1,1, IVaaVaEad e d dmad Il 9 2 |

frferRad BT & e BIfog -

(a) HeToMR GHAAT H# g ST 2 |

(b) THTSASH RS Td TERT o] B1d ©

(c) MAGAAT H WIS BT WIR 3 TF eIl ©

(d) TIBR # IuRerd dad ufeedh T H FERId]
B B
(e) ST ATl Tl YebTgrsd o fafdrear et 2 |

(1) (a),(b) Td (c) T &

() (@), (d) T (e) WET B |
(3) (b), (c) Td (d) FE |
(4) (c), (d) @ (e) WET 2 |

Y% B @ [o77 O/ Space for Rough Work
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71.

73.

Doctors use stethoscope to hear the sounds

produced during each cardiac cycle. The first heart

sound heard when -

(1) Ventricular wall vibrate due to flow of blood
from atria

(2) AV node receive signals from and SA node

(3) AV valve close up

(4) Semilunar valves close down after the blood
flows into blood vessels from ventricles

A : In joint diastole all the four chamber of heart
are in relaxed state.

R : The tricuspid and bicuspid valves are open and
the semilunar valves are open at this stage.

(1) Both A and R are true but R is the correct
explanation of A.

(2) Both A andR are true but R is NOT the correct
explanation of A.

(3) Alistrue and Riis false.

(4) Ais false & R is true or false.

Find the option which correctly fills up these

blanks:

(A) Formed elements of blood constitute nearly
.(i)... Of blood.

(B) .....(ii)... are the most abundant blood cells.

(©) A healthy adult man on an average contains
.(iii)... RBCs mm™ of blood.
(D) ....(iv)... is considered as graveyard of RBCs

(1) A (i) 45% B (ii) WBC
C (iii) 4.0 - 4.5 million D (iv) Spleen

(2) A (i) 55% B (ii) Neutrophils
C (iii) 5.0 = 5.5 million D (iv) Liver

(3) A (i) 45% B (ii) Erythrocytes
C (iii) 5.0 = 5.5 million D (iv) Spleen

(4) A (i) 45% B (ii) Neutrophils
C (iii) 5.0 - 5.5 million D (iv) Spleen

CLASS-XI

7.

72.

73.

ﬁwuﬁmmwﬁ%w@ﬁmm

£qfoal BT A 2 FCARDI BT SUATT HRAT & | G

gad eafy I Bl 8 ofd —

(1) era & MR H7= Bl 8, 519 snfer<i | ad
MR |

(2) AV TS, SA HTS & Y U HRAT © |

(3) AV PUIC 9% &1 W ¢ |

(4) Frerai | vaa woR aiffal § @e 1 & 91
FETEIPR HUIC 9G 8l OI1d & |

A : G AR H g2 & ARI Biws Rfra
QAR H T B |

R: 39 3w ¥ e qen fgaeria ure Yol
qAT ANGASTDHIR PHUTC Gell a2 ¢ |

(1) ATATREIF I & AR, A BT TS TLTHRT
=

(2) ATATR G T & AR, A BT TS TULTHIIT
TEIE |

(3) AV § AR I T |

(4) A 3T § AT R I 31T 3T T |

Rerct It 1 gl e arel faehed o1 A gAra HIRTY

(A) Y D TS IGTY ... (§).... & BT STHIT HIT ST
g

(B) .....(ii).... T4 31f&® 731 # urft S arelt Yo
IR |

(C) U Xaxe {1d I H AT . (jii)... RBCs Ufey &
fasft el 21

(D) ....(iV)... BT RBCS BT BT HIHT ST & —

(N A (i) 45% B (ii) WBC
C (iii) 4.0 - 4.5 million D (iv) wirer

(2) A (i) 55% B (ii) =IgIftha
C (iii) 5.0 - 5.5 million D (iv) I%d

() A (i) 45% B (i) TReMse
C (iii) 5.0 - 5.5 million D (iv) wiraT

(4) A (i) 45% B (i) =IIfhed
C (iii) 5.0 - 5.5 million D (iv) wirer
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Tabert Exploring ELE Hotioral Clympind-2085

74.

75.

What are correct about human's heart -

A. Normal activities of the heart are regulated
intrinsically.

B. Human heart is mesodermally derived

C Medulla oblongata can moderate the cardiac
function through somatic nervous system.

D. Adrenal medulla hormones also increase the
cardiac output.

E. Human heartis myogenic.

NHonly A, C&E

2)only A,D & E

3)only A,B,D & E

yonly D & E

How many are incorrect statement(s) ?

a. Liverreceives oxygenated blood from hepatic
portal vein and retuns deoxygenated blood
through hepatic vein.

b. Duration of cardiac cycle cannot be less than
0.8 second in a normal healthy human under
any condition.

¢. Layer of smooth muscles is thinner in vein
under any condition when compared to
arteries while diameted of Lumen is wider in
arteries than in vein.

(
(
(
(4

d. Electro cardiogram is a graph obtained froma
machine called as electrocardiograph that
graphically represents the electrical activity
of Heart

(M1 (2) 2

(3)3 (4) 4

74, A PEAI YT AT BT D G A AT © —

75.

A. ST D AT et &1 e e=aRe grar
2

B. HMd ged HEIGH WX I ST BIdl &

C. Hga ARSI HIFAH AD T3 & §RT g&d Dl
et o1 fFafid e a2 |

D. 3AEgdH Al & M Wl gad 16T Bl 9e1 od
2

E. A4 ged usieif=a eiar 2 |

(1) ®aa A, CTATE

(2) ®aa A, DTATE

(3) @ac A, B, DT E

(4) I D qATE

o1 7 b P2 Terd &—

a I RIS BIOR AP aTedT RIRTH T80T
P12 3R fASifRISTG Yo Iod RRTgRT aId
AT E |

b. B TH DI AW 0.8 sec W HH U ATHRI W
AT # fare) oY oRRefR # =81 2 a2y |

c. ferai ufrgi &1 uxa, RR1eT # g1 @) 3rder udel!
Bl &, Tt +ft sraven 9, Safes gw i # BT 901
3TUETT T[ET 1 T ATgT BTl 2 |

d. fI=[a &< oA U U & S U I3 g1 U
BT e, oY SoIae I SATUTS dhed & a2l U8 gl

@ faega forarefierar &1 svedia ueet= @
(1 (2) 2
()3 (4) 4

Y% B @ [ory o178/ Space for Rough Work
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MATHS (SECTION-D)
2x -3 2x-3 X
. > 21 2 ==1
76.  Solution set of — [2 J 76. : (2 ]?b‘r TALT
(1) x<4 (2 x>4 M x<4a (2) x>4
() x>4 (4) x<4 @) x>4 (4) x<4
77.  The value of x which satisfy the equation 77. X T HIF S FHIGIOT
2 —X ) 2 —X )
X+2 2 4+5x+6 X + 2 x2+5x+6aﬁ”13 A 8
(1) -2 () -3 (1 -2 (2) -3
3) -1 (4) No solution (3) -1 (4) DI TA el
78.  How many integer values of 'x' satisfy the inequality | 78. 'x' @& quIfaslar A1+ @1 &l Sl JrAfaht
X(x+2) (x+4) (x+6)<200 X(x+2) (x+4) (x+6)<200 B YT B &
(18 (27 (18 )7
)9 (4) None of these ()9 (4) 379 A IS 7TET
a, 1 _ s 1 5 1
79. If x> 0 and X +F_47' then the value of [ 79, =@ x>0qen X" +— =47, q@ X" +— H AL
X X
X3 4
3 is
(1) 15 )16 (1) 15 (2)16
(3) 17 ()18 3)17 (4)18

Y% B @ 119 S8 / Space for Rough Work
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80.

81

82.

83.

CLC
tecnd=
x* —3x* +2x°

x> —x-30

)(—co 5) v (1,2) U (6, ») v {0}

2) (oo, =5) U1, 2] U (6, ») U {0}

3) (—oo, = 5] U1, 2] U [6, ) L {0}

4) None of these
tan9°tan27°tan45°tan63°tan81°=

(M1 (2) 2

(3)3 (4)4

tan 20° + tan 40° + /3 tan20°tan40° =
(1) 143 (2) V3

_ == s

:
3) - N (4) -\3

3 4
If cos O = o and cos ¢ = o (where 6 and ¢ are

positive acute angles) then cos %‘b
= 7

0% 25
Z 7

s PN

CLASS-XI

80.

81

82.

83.
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4 3 2
q X —=3X"+2X

30 2° P & A B :
(M (—,=5)u(1,2) v (6, x) U {0}
(2) (o, =5) w1, 2]u (6, ») u {0}
@) (=, =5] w1, 2] U [6, ) U {0}
(4) None of these
tan9°.tan27°.tan45°tan63°tan81°=

(1) 1 2) 2
@) 3 (4) 4
tan 20° + tan 40° + \E tan20°tan40° =
(1) A3 2 V3
1
() -5 (4) -3

3 4 .
afE cos 0 = g Tcos ¢ = o (STET O T2 ¢ EFTHD

Wflaﬁm%)%ﬁ*lcosezi=

El 7
V% N

7 7
NG PN

Y% B @ [ory o178/ Space for Rough Work
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84.

85,

86.

87.

3tan®10° - 27 tan*10° + 33 tan?10° =

mo (21

(3)2 (4)3

Which of the following is the empty set?

(1) {x | xis a real number and x* - 1= 0}

(2) {x | x is a real number and x* +1= 0}

(3) {x | xis areal number and x* - 9 = 0}

(4) {x | X is a real number and x* = x+2}
IfA={1,3,5791,13,1517},B={2,4,..,18} and
N is the universal set, then A"U (AU B) n B') is
mA (2N

(3)B (4) None of these

India today conducted a survey if people taking
tea/ coffee. Out of 9000 people, 5550 people take
tea, 3600 people take coffee and 1500 people take
both tea and coffee. How many people take
neither tea nor coffee?

(1) 350 (2) 700

(3) 1120 (4) 1350

CLASS-XI

84.

85.

86.

87.

CLC
\tecndl=s

3tan®10° - 27 tan* 10° + 33 tan?10° =

Mo 21

()2 4)3
ffaRad # & si=ar Rad a2 2

() {x | x v arafae = sk x? - 1= 0}

Q) {x | x vs arafde de g sk x? + 1= 0}

@) {x | x v arafae @ & 3R x2 - 9 = 0}

(4) {x | x s araifds T g sl x? = x+2}

afd A={1,3,579 113,15 17, B={2,4,..,18
den N 9ifd aq=a 8, @ A'U (AU B) N B) ©
(M A N

3)B (4) 379 9 BIg 7Tl

3 T 7 TrI/B] Ui arel SAfdadl U= Ua Hden
ferarm | afe 9000 =fddat & & 5550 &1 = i &
qeI1 3600 fdd Him! Uid € 3iiR 1500 @afdd g 3R
B! a1 UId € 99 fhaw aafdd @ den &) i
T fag?
(1) 350
(3) 1120

(2) 700
(4) 1350

Y% @14 @ fory ST/ Space for Rough Work
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90.

9.

CLC
tecnds

If n(A) =4 and n(B) = 7 and A < B. Then the
minimum number of elementsin A N Bis equal to

(1) 4 )7
(3)3 (4)n
If the product of the roots of the quadratic
equation mx* - 2x + (2m-1) =0 is 3 then the value

of mis
(M1 (2) 2
(3) -1 (4)3

If one root of the equations x>+ 2x + 3k = 0 and
2x% + 3x+ 5k = 0 is common then the values of k
are

Mm1,2 (2)0, -1

(3)1,3 (4) No value of 'k’

The number of all possible positive integral values
of a for which the roots of the quadratic
equation, 6x?>~11x + a=0 are rational numbers is :
(15 (24

(3)3 4)2

CLASS-XI

88.

89.
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CODE : 2511

17 November, 2024

I n(A) =4TMMnB)=7TMACBITANBH
3AIAl P ~JATH HE& SRR T -

(1) 4 )7

(3)3 4n

Ife fgama T mx? - 2x + (2m-1) = 0 & Hail &1
UGS 3 81, @ m &1 A1 87—

m1 (2) 2

@3) -1 (4)3

afe TR X2+ 2% + 3k = 0 T 2x%+3x+ 5k = 0 I
T H[el 9IS &, a1 k & AT 8—

1,2 (2) 0, -1

(3)1,3 (4) k &1 BTS A 7ol

a @ 39 9 I o= goites A1 @1 dw@n e
forg fgamdia Tfiavor 6x°-11x + a=0 & & uR¥=
w2

(M5 (2) 4

()3 (4) 2

Y% &1 @ o1y 5118/ Space for Rough Work
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92. Interval of all values of 'k' such that the | 92
quadratic equation -2x* + kx + k? + 5=0 has two
distinct roots and only one of the roots satisfies 0
<x<2is:
(1) (=3 (2)(0,2)
(3) (0, =) @ Q. 3)
93. If roots of the equation 12x*> + mx + 5= 0 are in | 93.
ratio 3 : 2 then find the value of m.
() 5v5 () svi0
3) Vo CING
94, Total number of terms in the progression 94,
96 +48+24 +12 + ...+ 3/16 is-
M9 (2)10
(3) 15 (4) 20
95. Four numbers are in A.P. If their sumis 20 and the | 95.
sum of their square is 120, then the middle terms
are:
1M24 (2) 4,6
(3)6,8 (4) 8,10
96. Leta,a, a,...,a,,bein AP.and AM.ofa, and a,, | 96.

CODE : 251

2
is 5, then Zai =

i=1
(1) M0
(3) 220

(2) 55
(4) 100

k @ S @) AT BT TR W,W%%ﬂﬁ
FHIBROT -2x2+kx+k?+5=0 <1 fafi=1 7ot e g qen

B b ol 0<X<2 Pl AIE BRI 2 :

() (=31) (2 (0,2)

(3) (0, ») (4) (1,3)

IfE FHIHROT 12¢% + mx + 5= 0 & el 3 : 2 T 37UTd
# 2 Al m &1 A 1d DI |

() 55 (2) 510

3) vio @) 5

T 96 + 48 + 24 + 12 + ...+ 3/16 ¥ e UG &-

19 2)10

3)15 (4) 20

R AN FHR A ¥ 8, IS SHH1 IIT 20 =g
I9D I BT AT 120 B, 1 729 UG Bi—

(24 (2) 4,6
(3)6,8 (4) 8,10
T @y, @y, Az Ayy A 5 H & TAT @y T Ay, DT FHRR

Wy 58,9 0.8 =
i=1

(1) 10
(3) 220

(2) 55
(4) 100

Y% @14 @ fory ST/ Space for Rough Work
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tecn
20 1 20 1
97. The sum Zkz—k is equal to : 97. AM Zkz—kw%‘
k=1 k=1
21 M 21 1
M 2= @12 M 2= % @12
n 3 n 3
(3) 2—5 (4 )2—2— ®3) 2—21 (4) 2—27
98. The greatest term in the expansion of (2x +7)"°, [ 98. (2x + 7)"° & UIR # H&wH US SI1d 81T, Sidfh x = 3 8
when x =3 is-
(M Ts () Tg T (2) Tg
3T, (4) Tg aT, (4) Tg

Tyuc | | oo ol ”linc BIAF S :
99. The value of the expression log, 1+EZ C lis | 22 09, 24 K :
P

(M) (2)12

mn (2)12 @)1 (4) 14

(3)13 (4)14
o ' 60 : :
100. The total number of irrational terms in the |, - (71/5 _31/10) @ f2ug wER ¥ Ry udl A we

60
binomial expansion of (71/5 - 31”0) is :

RES| % :
(1) 48 (2) 55 (1) 48 (2) 55
(3) 54 (4) 49 (3) 54 (4) 49

Y% B @ [ory o178/ Space for Rough Work
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